G3

; ‘ ; HSC 2002 - Mathematics
T ————

Band 4/5 - Sample 1
BOARD 0F STUDIES
NEW SOUTH WALES

Question 3

-
O= 1000 <= O35 ™20
a0 -
T . = QC
Yoy
\9
T = OO0 £ 1OBDS
= 1922.90

oF e Cad Of 20O geacSHS Jdh ol

ol et

H\Q22-O

0

/<

4

A 13

e
[~ 2
LPoe + c2@B = B0 (ongl 6m of . SnccuQiyt
oo )
LS « ne” = 150

L LB = 4

02WB4



HSC 2002 - Mathematics
Band 4/5 - Sample 1
———

BOARD 0F STUDIES

NEW SO0UTH WALES

: AWBe SoEn §F

e =Qd% (_g\ueﬁ\

QPd 'O \Goees

L BHPQA = LePae

L&A = ©4a !

LHRP 4 L PR + LBOG =180 (arge oun of wang

FES)

S + PO + 54 130"

(e = 392’

LPBA = LOPB (Q\-H::mcs*e OgeS
T AENCD )

LoPeg =& 3’

I

LOPS = X

L =W 50°

02wB4




HSC 2002 - Mathematics
Band 4/5 - Sample 1
——

BOARD OF STUDIES

NEW SOUTH WALES

~<
-5_0.‘6\ ’DCQ:W%\
tc (o)
al (3_1\
f S
=)

n

-

9-9, = ™ (1~3c‘.\

|
g-"a 3 (x- 3’3\

1]

SR R

02W84



e —
BOARD OF STUDI

NEW S5O0UTH WALES

HSC 2002 - Mathematics

Band 4/5 - Sample 1
ES

2 )
Npe= 8-—:}jﬁ.=51_/ﬁl

]
U= 2x +%

?JL,I-': 3—+9

x -2, 439 :0

Y

o co, N a2\ B05)

*y (‘dg“dal: E"‘—c\f“" (‘ds*ﬁc\l

= j(-.—o\l+ (5 -

-0\ e (5 -\

4+(\Q—q\1= \ <+ CS”H\l

|+ <16~\©u+qh

= \+05 "\O\)“AL\_!Q

o) -—4\\_4 +\Q*j‘ = Db —\O w\l‘
CDL; = ‘8
)
(__'J‘ = 3)
e ofe ] C o WEDH o &_AN“C\\IJS

02WB4



HSC 2002 - Mathematics
Band 4/5
e ——

- Sample 1
BOARD OF STUDIES

O Y 0 \&5 {6 ;6\

A2 & (1) ©8l6,9)

A = ﬁy—z‘l'\l* (5:!3.—'“‘.5 1\1
AES

12

Ji-2 (5 2y

?-./1+Q

3

&£
®)
|
o
~
H
\
v

«
{
v
I
\
6Y
R
+
6

02wB4



HSC 2002 - Mathematics
Band 4/5 - Sample 1
—

BOARD OF STUEDIES

NEW SOUTH WALES

a. lax+oyic)

= \3)‘6*17‘-5"8l

Q-+t
- 1S
NHo
)
=]

) =
AR

= :} ‘JQ- gf\l'\’el

02wse4



	Quest: 
	 X: Question 3

	subject: HSC 2002 - Mathematics
	Band 4/5: Band 4/5
	sample:  -  Sample 1


